A . it gof @ F=aT - 12
Roll No. No. of printed pages : 12

132 432 (IMZ)
2020
daEeTE (dgfa®)

ACCOUNTANCY (THEORY)

T : 3 9oe | [ gqoii® : 80
Time : 3 Hours | [ Max. Marks : 80
for: () By dami A e &, @ kT

iy ' gt RenfHA & foe sfE 21

(i) 9w R T A Y D P 9 & DA &

(iv) 5 wo= & 9eft vl o 3R aeeva On-ary fafae|

(V) YRS T & 3P b THE e T £
Instructions:

(i}  This question paper contains three Parts : 'A', 'B' and 'C".

(ii) Part'A’ is compulsory for all candidates.

(iii} Candidates shall attempt only one part of the remaining Parts 'B' and 'C".

(iv) All parts of a question should be attempted together.

(v} Marks for each question are indicated against it.

AT - ‘S’ (TGT2A)
Part - 'A' {(Accountancy)
1. 3RS U9 RUIYF § $is & 3iax) folae| 2
Write the two difference between share and debenture.
2. =wO-gE & oM & [t Wa sasdl 2

Enumerate the various sources of redemption of debentures.

3. o @l g | @5 IR fag sasd 5 It o § siavd & enfie fesar s
aifee 2
State any four points from accounting point of view which must be incorporated
in a partnership deed.

4. EM-3EUE qUT AN-mftd ST’ § B & 3R garge| 2
Give any two points of distinction between 'Sacrificing Ratio’ and 'Gaining Ratio'.

5. ABIRCUESBHHI:2:1® U § @y fIwem a=d €1 319 9 ey s s
oRafda &=F 1: 1 : 1 T & Fofa 2 &1 3 wrea & 5 a7 o v Ree @ asf 9

7d a9 R P J I 2
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fireet 2 auf &1 oy -
uer af &1 o < 40,000
ficra af @1 @ 2 20,000
U U SHdl Widie gRT @y @ JAeH v el 3
A, B and C are partners in a firm sharing profit in the ratio of 3 : 2 :1. Now they
decide to change in profit sharing ratio to 1 : 1 :1. They wish that the change in
profit sharing ratio should come into effect retrospectively, for the last two year.
The profit for the last two years were :

First year's profit T 40,000

Second year's profit T 20,000
Show the adjustment of profit by a single adjustment journal entry .
arer feifies A v @ive T 2,00,000 o1 firaer forfies @ & fasant 7 50,000 v e feod
T T 9 oIS & fore T 100 S & wwan ster wra W i il N s fefids
D gE@! ¥ 3EavaS e wafedl Hifel 3
Ajay Limited purchased a plant of ¥ 2,00,000 from Mittal Limited. Payment was
made T 50,000 as cash and equity shares of ¥ 100 each issued for remaining amount
at par. Give necessary journal entries in the books of Ajay Limited.
A 3 T 100 T 100 THAT 3721 3N T 50 B Juw vd JHfaw A== &1 A 8 8 /&Rl
R m T A, B @ 2T 70 Wi sier gota: gaan A e fenffe fove e 1 o sk g e
% 9 ¥ oeia wRfeal Sl 4
A's 100 equity shares of ¥ 100 each forefeited due to non-payment of first and
final call of ¥ 50, are reissued to B for ¥ 70 per share as fully paid. Give the
journal entries for recording forfeiture and reissue.
Az feafies 3 wfe ot T 100 F 10,000, 12% Fotas SRT fe fommt smiea w 7 30 3ik
e | A YT & &) T ¥ 9,000 FowA & v andes fean S gofa: smEfea foe
T & 3R 3ugs nfia I e B w1 Qe s & @ # e wfaftear e 4
Rohan Ltd. issues 10,000, 12% debentures of T 100 each payable as ¥ 30 on
application and remaining amount on allotment. The public applied for 9,000
debentures which were fully allotted and all the relevant allotment money duly
received. Give journal entries in the books of Rohan Ltd.
(i) ¥ 100 YA Y 10,000, 12% FOTF TR R A 5 ast & 1@ 5% Nfgw ®

a2l
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(i)) T 100 Y& Tl 10,000, 12% FOTHH 10% B TR Ao 5 a6l & da FHed TR Y-
ang |

3% & foe Fe=foRaa sta viafear aitwe : 4

(a) FomEl & frfna R 3R

(b) & 7 3l & IIF A & TIYTIH R

A company issues the following debentures:

(i) 10,000, 12% debentures of 100 each at par but redeemable at premium
of 5% after S years.

(i) 10,000, 12% debentures of ¥ 100 each at a discount of 10% but
redeemable at par after 5 years.

Pass the journal entries to record the :

(a) issue of debentures and

(b) repayment of debentures after the given period.

10. TOd Foie, EXIGH B PR GaeT $ STER G 3WH AT S W1 AR Hifste-
-T2 WISl & ¥ 2,400; BHR BT B 9 3 140; BT Yo < 700; SeraH T& § wi
e 2 1,500; faf=ami | o &meT ¥ 720; W99 Yoo T 600; & T 1,200
PIAF-SREHE T 144; oG Y T 240; I X 1,200; BT T @ AT T 360; ST T8
&1 I T 1,020; dideR 3 Aoy % 816; e @@ % 480; fosvman ik @ T 6001
e : af & 37 ¥ 37T Ia9 T 300 TUT 3G T&T T 500 ATH B TR T 200 FIRA ¢4
2| JFT Q@ 1 I 2017 T 1,116; g i 31 AR, 2017 T 3,5161 4
Prepare a Receipt and Payment Account of Chanchal Club, Dehradun from the
following information :

Receipts : Subscriptions received ¥ 2,400; Rent of Room X 140; Games fee
¥ 700; Receipts from canteen ¥ 1,500; Interest on Investment ¥ 720; Entrance
Fees ¥ 600; Donation T 1,200.

Payments : Repairs ¥ 144; Petty expenses T 240; Salaries T 1,200; Printing
and Stationery T 360; Canteen stores ¥ 1,020; Wages of guard ¥ 816; Electric
charges ¥ 480; Rent and taxes T 600. _
Note : There were outstanding salary ¥ 300 and accrued subscription ¥ 500 at
the end of the year. Furniture is to be depreciated by ¥ 200.

~.Jush Balance 1st January, 2017- ¥ 1,116.

Cash Balance 31st December, 2017- X 3,516.
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11. A3R B, 5: 3% argaa & oy B S B gE WIRER € C 6 A T URER &
w F 59 AT &1 T AEER 1 A 30 B &1 1/4 & 2 3R B 3w & @1 2/5 e
&1 T e s argme 3R @ & s e | 4
A and B are partners sharing profits in the ratio of 5 : 3. C joins the firm as a
new partner. A gives 1/4 th of his share and B gives 2/5 th of his share to new
partner. Find out new profit sharing ratio and sacrificing ratio.

12. U 9RER) B 3 71d °r auf & dRkM FafeRad gz dw damn
W a¥ T 20,000 gt ad Z 28,000
Bmafz22,000  aqd ad % 34,000
v @t faferafsa 9ot 2 1,20,000 &1
i o e A @ ge Yol W Shua sfiwa & R 10% 2
IRIH Faftr Ay it siftremt & O af & T grw & MR W ST & Ted S A0

G e 6
A partnership firm earned net profits during the last four years as follows :

ist year¥ 20,000 3rd year X 28,000

2nd year¥ 22,000 4th year X 34,000

The capitai investment of the firm is ¥ 1,20,000.
A fair return on the capital having regard to the risk involved is 10%.
Calculate the value of goodwill on the basis of 3 years' purchase of average
super profits earned during the above mentioned period.
3rmEr (OR)

TESH AP 3R Q, 3 : 2 F UM F @I B dica g¥ FHAR &1 R AN H 1/4 41 & fere
AR # waer aa1 &1 R §30 & w9 3 2 1,00,000 3R 3 &=y ot wnfey (Mfirem) & fore
% 15,000 & AT &1 EAAS Tl Waredl oo
P and Q are partners in a firm sharing profits in the ratio of 3 : 2. R admit in
partnership for 1/4th share in profits. R brings ¥ 1,00,000 as capital and¥ 15,000 as
his share of goodwill (premium). Give necessary journal entries.

13. Are= fofies ¥ 7 50 wia 3iwr 9wy 60,000 FHAT 3 WR 2 10 Hier 3iwr MiFTm W 3mae smf=a
foou &1 ¥ ot yow g o -
FE FR e R % 20 9T siw, 9w (st afE) vow R sfw g wi
80,000 37eit o férw 3mae=T yTet gE A1 5,000 37 & fow smde=i ®1 srdiga o= féar mn an 3k
Ay 3MdE W IATfI® e fosan mar o7 T areemd @ TR o 3R V& Bl wowncd

600 3911 TR Fr 3R 3T+ T o) 1T DY BISHR GHI &0 IRTAT 1< &1 775 1| 390 iRl
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14.

&1 31 o ferar o) e fosu Y s 2 60 B R W Yofa: gwar geg W EiEiRE #R
fea me &

g fufies o sl # smawas AFama Siwl 6

Mohan Ltd. invited applications for 60,000 equity shares of ¥ 50 each issued at
a premium of ¥ 10 per share. The amount was payable as follows :

On application and allotment T 20 per share. Balance (including premium) on
first and final call.

Applications for 80,000 shares were received. Applications for 5,000 shares
were rejected and pro-rata ailotment was made to the remaining applicants. All
calls were made and were duly received except the first and final call on 600
shares which were alloted to Rohan. His shares were forefieted. The forefeited
shares were reissued at ¥ 60 fuily paid up.

Pass necessary journal entries in the books of Mohan Ltd.
Jgar (OR)
FrafaRaa oz Rufort feRas 2x3=6
() DHAN wid fdeey A=
(@) BT AT A
(M  =gaw AEE
Write notes on the following :
(a) Employees Stock Option Plan (ESOP)
(b) Calls-in-advance
(¢) Minimum subscription

FrefeRas f[da=or ¥ 310 v 709 &1 31 idaR, 2017 & 9919 8 910t a9 HT 3M9-3d @il
FA|

mitd vd Y @l
st RN (3) | = RN ()
Ay & 99 2,350 | qad 1,200
Y9l e 300 | fasm@n o 120
T 3 T 525
2016 50 | gmafer I 2,500
2017 3,500 | & 200
2018 75 | o ER 1,000
eI 100 | 99 (31-12-2017) 1,150
fafaer sma 320
¥ 6,695 2 6,695

1 a9, 2017 B FreferRaa Tt silk e 9 =l % 800; THiTeR T 2,500; 39T a%g
TR ¥ 350; TFER T 1,200

1) (5] [P.T.O.



31 RemaR, 2017 B 3THI G HUSR @ T T 700 AT AR X 550 o G T X 75
3R raft T W T 25 W saTs g | S T AR & ¥R 9 WX BT 15% TR
10% B SIfcd! 6
From the following particulars, prepare Income and Expenditure Account of a
Club for the year ended 31st December 2017.

Receipts and Payments Account

Receipts Amount (T} | Payments Amount (%)

To Balance b/f 2,350 | By Salaries 1,200

To Entrance fee 300 | By Electric charges 120

To subscriptions : By other Exp. 525

2016 50 | By Fixed Deposits 2,500

2017 3,500 | By Utensils 200

2018 75 | By Creditors 1,000

To Refreshment 100 | By Balance ¢/d 1,150
To Misc. Income 320 | (31-12-2017)

T 6,695 T 6,695

Following were the Assets and liabilities as on 1st January 2017 :

Utensils ¥ 800; Furniture T 2,500; Consumable stores Z 350; Creditors ¥ 1,200;
On 31st December, 2017, stock of consumable stores was ¥ 700; creditors
were T 550; Outstanding subscription ¥ 75 and Accrued Interest on Fixed
Deposits was T 25. Charges depreciation on the closing balance of Utensils and
Furniture @ 15% and 10% respectively.

15. T 3R g v B A 9EER O 31 KR 2016 31 396 FefoRea Refd faazor ar

gt 3k el RIS () ety FRI (3)
3T S 10,000 Ade 4,000
fafde aeR 30,000 S® 56,000
do ftrfaed 20,000 TR 30,000
& fauz 30,000 HraR 12,000
T 18,000 A 24,000
LRI g 57,000
K 45,000
ELoter) 30,000 75,000

3 1,83,000 Z| 1.83.,000

3 W Bt Reiesa et o o & yaw & @ fofg o 2
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(3 e G5 & w9 F T 45,000 e & #R a widsy & o @ 1/4 fewm g &
(@ o o afeal § 2 30,000 ¥ @A @ W SIRAT 3R et # @nfy @ T8 e aisel
(@ weRY, " 3R BeR @ 5% ¥ gifaa faar sel
(@ iferer ol & e 5% wiae= @1 Fmfor fsar s
TRieie @rdT, W et & G @ 3k % o @ fugr e 8
Ram and Shyam were partners in a firm. Their Balance sheet as on 31sc

December 2016 stood as follows :

Capital and Liabilities | Amount ()| Assets Amount ()
Qutstanding Liabilities 10,000 Cash : 4,000
Sundry Creditors 30,000 Bank 56,000
Bank Overdraft 20,000 Debtors 30,000
Bills Payable 30,000 Furniture 12,000
Reserve 18,000 Machinery 24,000
Capital Accounts : ¥ Building 55,00C
Ram 45,000
Shyam 30,000 75,000

%11,83,000 T11,82,000

They decided to admit Mohan in partnership on the following terms : ‘

(a) Mohan brings T 45,000 as capital and he will receive 1/4 share in future
profits. ‘

(b) A Goodwill Account for 30,000 to be opened in the books of the firm and
Goodwill Account should not remain in the books.

(c) Th_e machinery, building and furniture to be depreciated by 5%.

(d) A provision @ 5% to be created for doubtful debts.

Prepare Revaluation Account, Capital Accounts of all partners and the

Balance sheet of the new firm.

Jyar (OR)

432 (IMZ) [7] [P.T.O.



EW 3R 2O v B ¥ a_eR S RER ) IEE 31 91, 2017 @, 59 sife fug
fr=ifisd o, st v @) faufea e Mfvaa e -

arfreg g ) | wwf RIS ()
fafae oerr 2,700 | & & A= 3,000
g By 3,000 | fafder ager 850
=T BT FOT TTal 3,000 | @vT 4,700
gt : : Zgforn 15,150
& 12,000 | ugr 6,000

&= 12,000 | R wd Bl 3,000

% 32,700 % 32,700

Ug B T 6,300 #, wiR vd BT @y 2 3,300 F Tor &frar @ T 13,800 F a1 WA
qRIDHI SFERT A B T 800 B YL §F, SIS ©ve B JT W T 4800 | SERT B
% 2,600 QUi I ¥ gHRI| IYEN T T 500 gP

B & Gral B §< PR b [0 HEeTS s wfafedt Sifse)

Rahim and Hemant are equal partners in a firm. They decided to dissolve the
partnership on 31st March, 2017 when the statement of affairs was as follows:

Liabilities Amount (¥}| Assets Amount (3)
Sundry Creditors 2,700 |Cash at Bank 3,000
'Reserve Fund 3,000 [Sundry Debtors 850
Hemant's Loan A/c 3,000 |[Plant 4,700
Capital A/c : Stock 15,150
Rahim 12,000 ({Lease 6,000
Hemant 12,000 [Furniture and Fittings 3,000
¥ 32,700 T 32,700

The lease was sold for % 6,300, fumiture and fittings for ¥ 3,300 and stock for 13,800.
The book debts realised only T 800, whereas plant realised T 4800. The Creditors were
- paid ¥ 2600 in full settlement. Expenses of realisation amounted to Z500.

Pass the necessary Journal entries to close the books of the firm.

R - ‘@ (frfra faa=ont &1 fageson)
Part - 'B' (Analysis of Financial Statements)

16. ‘foxita faaron & feewor & aar smerg &7 2
What is meant by 'Analysis of Financial Statements'?

432 (IMZ) (8]



17.

18.

19.

20.

432 (IMZ)

s YA FiaRor o & B a1 seea fefaed
Write any two objectives of preparing Cash flow statement.

ek R0 & srerel & 3 P e T YA €

1996 1997
ot (=) % 8,12,500 T 14,91,800
S Wi T @ e T 5,98,000 Z 10,54,700

YIS ad & o el T AT S Bl

You obtain the following informations from the records of Sudhir Ltd.:

1996 1997
Sales (Net) T 8,12,500 Z 14,91,800
Cost of goods sold T 5,98,000 T 10,54,700
Find out gross profit ratio for each year.
i fasamo & fredl A9 daiiel @ 3cer STl
Describe any three techniques of financial analysis.
I35 fer0 o1 g Frrest &
e ferget
T I @) | weakwEt )
e 3 dai 80,000 | 3R wAiadl 48,000
Gag vd snfeEd 40,000 | < el 1,12,000
B T 64,000 | fafzm 8,000
o sty 8,000 | WY 24,000
o ER 32,000 | &R 24,000
&= & o grag= 16,000 | S 9w 24,000
Z | 2,40,000 T |2,40,000
fort argaTEt @Y O BT -
(i) TReT SR (if) TeL 3FIUT (iii) TeFT 3Fgaa (iv) e U
The following is the Balance Sheet of Anuj Ltd. :
Balance Sheet
Liabilities Amount Assets Amount
) %)
Equity Share capital 80,000 | Intangible Assets 48,000
Reserve & Surplus 40,000 | Fixed Assets 1,12,000
Mortgage Loan 64,000 | Investments 8,000
Bank Overdraft 8,000 | Stock 24,000
Creditors 32,000 | Debtors 24,000
Provision for tax 16,000 Bank Balance 24,000
T {2,40,000 2,40,000

9]
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Calculate the following ratios :
(i) Liquid ratio  (if) Current ratio  (iii) Solvency ratio (iv) Properietory ratio

21, FrefeRaa gemmi ¥ vaew feasl ¥ Jss var fawor R Hfse- 6
foa=on 31-03-18 01-04-17
z z
Y-g1Y fdaxor & 9y 60,000 80,000
SIER 19,000 28,000
g TR 2,400 ~-
gded ST 1,600 1,200
Fag! (D) 49,000 32,000
THER 15,000 | 25,000
R g ¢

(a) AR W g9 T 24,000
~ (b) swieRea @i 2 6,000
(c) TR & oy ® & T 2,000
(d) 7= & g | & 2 4,000

" Prepare Cash flow statement from Operating Activities from following

information :

Particulars 31-03-18 01-04-17
4 4

Balance in Statement of

Profit and Loss 60,000 80,000

Debtors 19,000 28,000

Rent Payable 2,400 -

Prepaid Insurance 1,600 1,200

Inventory (Stock) 49,000 32,000

Creditors 15,000 25,000

Additional information :

(a) Depreciation on Machinery 3 24,000

(b) Goodwill written off T 6,000

(c) Loss on sale of furniture T 2,000

(d) Gain on sale of Machinery T 4,000

432 (IMZ) [10]



ur - 77 (e FaieA)

Part - 'C' {Computerised Accounting)

16. TREAHT TRGid- YOTAT ot JggReT Hey § dfe| 2
Give in brief the concept of computerised Accounting System.
17. SCNY Y& YOIl aar &7 2
What is database management system.
18. SIEWY Y& YO & g Al 3e9d FaRe| 3
State any three objectives of database management system.
19. WHUS T 9N &S 7T B 82 3
What are the functions of structured query language?
20. T & AN 59 VR & Sl 8g 39T o7 3
For what type of applications, Excel is appropriate?
21. (@) e due foro o Frafafea gaer & R ) §@ aEER GOR Sl - 3
e A[AX [0 kS @l eI (%))
31-3-2017 3 40001 | gaifer@R 3fer 4ol 5,00,000
31-3-2017 3 40004 | T w Fferea 50,000
31-3-2017 3 40006 | S&® 10,00,000
durwat @ M gRT 3eEd
Design a Bank Voucher with the following information of M/s Chanchal vcd. :
Date V.No.| Code | Account Amount ()
31-3-2017 3 40001 | Preference Share Capital 5,00,000
31-3-2017 3 40004 | Premium on Issue 50,000
31-3-2017 3 40006| Bank 10,00,000
Prepared by Ram Authorised by Shyam
@) e wme foo 25 afeat o Frge axa €, 57 359 9 9@ 3w, A8 e, AeM
T e ey afayfS war atafa &1 e & Frm Fefoiea 2
weli @ oFT B & fore Frfeilaa srer @1 vHo vHO vadw N 3TNt AR gE B0
&0 A0 § we faaRae -
we fosraT Wil < T 25,000 7T dc @ T 4,000 T 35,000 HT 4 T < 8,000
432 (IMZ) 111] | P.T.O.
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% 45,000 HeT 901 ¥ 3 W T 10,000;
wiet arfagfed e : g IAT BT 25% @B W A AT A T 70001 4

M/s Mangal Ltd. employs 25 persons whose salary comprises Basic
Pay,Dearness Allowance, House Rent Allowance and City Compensatory
Allowance. The following are the rules that govern the payment.

Write the queries in SQL using the following data in MS-Access to compute
the allowances :

House Rent Allowance : T 4,000 upto a Basic Pay of ¥ 25,000; ¥ 8,000
upto Basic Pay of ¥ 3,5000; T10,000 for Basic Pay above ¥ 45,000.

City compensatory Allowance : @ 25% of Basic Pay subject to a minimum
of T 7000.

* %k Kk
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